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Answers and commentaries 
 

 
  
Extended writing questions  
 

Question 4 
Describe how situational variables have been found to affect obedience. Discuss what these 
situational variables tell us about why we obey.  

[16 marks] 
 

Mark scheme  
Marks for this question: AO1 = 6, AO3 = 10 
 
Level 4 
Marks: 13–16 
Knowledge of how situational variables affect obedience is accurate and generally well 
detailed. Discussion is thorough and effective. Minor detail and/or expansion of argument is 
sometimes lacking. The answer is clear, coherent and focused. Specialist terminology is used 
effectively. 
 
Level 3 
Marks: 9–12 
Knowledge of how situational variables affect obedience is evident but there are occasional 
inaccuracies/omissions. Discussion is mostly effective. The answer is mostly clear and 
organised but occasionally lacks focus. Specialist terminology is used appropriately. 
 
Level 2 
Marks: 5–8 
Limited knowledge of how situational variables affect obedience is present. Focus is mainly on 
description. Any discussion is of limited effectiveness. The answer lacks clarity, accuracy and 
organisation in places. Specialist terminology is used inappropriately on occasions. 
 
Level 1 
Marks: 1–4 
Knowledge of how situational variables affect obedience is very limited. Discussion is limited, 
poorly focused or absent. The answer as a whole lacks clarity, has many inaccuracies and is 
poorly organised. Specialist terminology is either absent or inappropriately used. 
 
  

Please note that these responses have been reproduced exactly as they were written by 
the student. 



A-LEVEL PSYCHOLOGY – 7182 – PAPER 1 - ANSWERS AND COMMENTARIES 

© 2023 AQA 4 of 38  
 

 

Marks: 0 
No relevant content. 
 
Possible content: 
Knowledge of procedure and/or findings of research into the effects of: 
• proximity – Milgram – teacher and the learner were in the same room, obedience 

decreased; touch proximity condition; experimenter leaves the room issues order over the 
phone, obedience decreased 

• location – Milgram – run-down office block vs Yale; Hofling hospital location 
• uniform – Bickman – more likely to obey a man dressed as a guard. In Milgram’s 

experiment the experimenter wore a grey lab coat. 
 
Possible discussion: 
• analysis/discussion of factors in the context of explanations: eg uniform as a visible sign of 

authority, location/setting makes authority seem more/less genuine (legitimacy of 
authority) 

• decreased proximity to authority figure meant that participants returned to a more 
autonomous state (agentic state) 

• discussion of relative power of factors, eg in Hofling study, 21/22 obeyed even though 
orders were given over the phone (so legitimacy of setting more important than proximity) 

• discussion of alternative theories, eg authoritarian personality (Adorno) suggests that 
dispositional factors are more influential than situational variables 

• methodological evaluation of studies/evidence if made relevant to discussion of the 
factors/why we obey, eg field studies such as Bickman may have more relevance than lab 
studies in this context 

• Mandel’s (1998) analysis of the ecological validity of Milgram’s research 
• Orne and Holland (1968) Milgram variations were contrived and even more likely to trigger 

suspicion in participants. 
 
Credit other relevant material. 
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Student responses 
 
Response A  
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This is a Level 4 response 

There was some slight confusion on the first page, in addition, social support at the end is 
a situational variable. Otherwise, knowledge is accurate and generally well 
detailed, discussion is thorough and effective. Towards the bottom of Level 4.  
 
14 marks 
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Response B 
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This is a Level 2 response 

The knowledge and understanding was low Level 3. The discussion was of limited 
effectiveness and weak at the end of essay.  
 
8 marks 
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Question 8 
Rory is talking with his grandparent and playing a game on his phone at the same time. 
The game involves matching blocks of the same colour to complete vertical and horizontal 
lines. It is only when his grandparent asks him to describe his route to school that Rory puts 
down his game so he can concentrate fully on his answer. 
 
Discuss the working memory model. Refer to Rory’s behaviour in your answer. 

 [16 marks] 
 

Mark scheme  
Marks for this question: AO1 = 6 marks, AO2 = 4 marks, AO3 = 6 marks 
 
Level 4 
Marks: 13–16 
Knowledge of the working memory model is accurate and generally well detailed. Application 
is effective. Discussion is thorough and effective. Minor detail and/or expansion of argument 
is sometimes lacking. The answer is clear, coherent and focused. Specialist terminology is 
used effectively. 
 
Level 3 
Marks: 9–12 
Knowledge of the working memory model is evident but there are occasional 
inaccuracies/omissions. Application and/or discussion is mostly effective. The answer is 
mostly clear and organised but occasionally lacks focus. Specialist terminology is used 
appropriately. 
 
Level 2 
Marks: 5–8 
Limited knowledge of the working memory model is present. Focus is mainly on description. 
Any discussion and/or application is of limited effectiveness. The answer lacks clarity, accuracy 
and organisation in places. Specialist terminology is used inappropriately on occasions. 
 
Level 1 
Marks: 1–4 
Knowledge of the working memory model is very limited. Discussion and/or application is 
limited, poorly focused or absent. The answer as a whole lacks clarity, has many inaccuracies 
and is poorly organised. Specialist terminology is either absent or inappropriately used. 
 
Marks: 0 
No relevant content. 
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Possible content: 
• version of STM which sees this store as an active processor 
• description of central executive and sub-systems/components – visuo-spatial 

scratch/sketch pad (visual cache, inner scribe); phonological store/loop; articulatory 
loop/control process; primary acoustic store; episodic buffer (versions vary – not all sub-
systems need to be present for full marks) 

• information concerning capacity and coding of each store 
• allocation of resources/divided attention/dual-task performance. 
 
Possible application: 
• in the early part of the conversation, Rory/the central executive can divide attention 

between the conversation and the game on his phone 
• this is because the two tasks use different sub-systems: phonological store/articulatory 

loop for the conversation and VSSP for the game 
• when he is asked to recount his route to school (a visuo-spatial task), this places too many 

demands on the VSSP 
• this means Rory must abandon his game to free up more attentional resources because of 

the limited capacity of the stores. 
 
Possible discussion: 
• use of evidence to support or refute the model/individual sub-systems, eg Hunt – central 

executive; KF case study – separate visual and verbal stores in STM; Paulescu et al – PET 
scan; Logie – mental rotation task for VSSP 

• explains how cognitive processes interact 
• a view of memory that is active rather than passive (in contrast to the multi-store model) 
• provides explanation/treatments for processing deficits, eg dyslexia 
• explains results of dual task studies, eg Baddeley 
• vague, untestable nature of the central executive 
• supported by highly controlled lab studies which may undermine the validity of the model. 
 
Credit other relevant material. 
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Student responses 
 
Response A 
  

 
 



A-LEVEL PSYCHOLOGY – 7182 – PAPER 1 - ANSWERS AND COMMENTARIES 

© 2023 AQA 15 of 38  
 

 

 



A-LEVEL PSYCHOLOGY – 7182 – PAPER 1 - ANSWERS AND COMMENTARIES 

© 2023 AQA 16 of 38  
 

 

 



A-LEVEL PSYCHOLOGY – 7182 – PAPER 1 - ANSWERS AND COMMENTARIES 

© 2023 AQA 17 of 38  
 

 

 
 

 
 
 
  

This is a Level 4 response 

Both the knowledge and understanding and application met the descriptors for Level 4. 
Knowledge of the working memory model is accurate and generally well detailed, and 
application is effective. The discussion was Level 2/3. It was weaker at the end of the 
answer and the lack of an effective discussion limits the overall mark. The script was 
awarded just into Level 4 (bottom). 
 
13 marks 
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Response B 
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This is a Level 3 response 

There is some discussion credited in the plan. The diagram shows good knowledge and 
understanding but this is not sustained throughout the answer. Overall, the knowledge and 
understanding was limited and therefore Level 2. The application was also limited to Level 
2. The discussion is mostly effective at Level 3. It was less effective at the end of the answer. 
Overall, the limited knowledge and application restricts the mark to the bottom of Level 3.  
 
9 marks 
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Question 12 
Outline Lorenz’s and Harlow’s animal studies of attachment. Discuss what these studies might 
tell us about human attachment. 

 [16 marks] 
 

Mark scheme  
Marks for this question: AO1 = 6 marks, AO3 = 10 marks 
 
Level 4 
Marks: 13–16 
Knowledge of Lorenz’s and Harlow’s animal studies is accurate and generally well detailed. 
Discussion is thorough and effective. Minor detail and/or expansion of argument is 
sometimes lacking. The answer is clear, coherent and focused. Specialist terminology is used 
effectively. 
 
Level 3 
Marks: 9–12 
Knowledge of Lorenz’s and Harlow’s animal studies is evident but there are occasional 
inaccuracies/omissions. Discussion is mostly effective. The answer is mostly clear and 
organised but occasionally lacks focus. Specialist terminology is used appropriately. 
 
Level 2 
Marks: 5–8 
Limited knowledge of Lorenz’s and Harlow’s animal studies is present. Focus is mainly on 
description. Any discussion is of limited effectiveness. The answer lacks clarity, accuracy and 
organisation in places. Specialist terminology is used inappropriately on occasions. 
OR Lorenz or Harlow only at Level 3/4. 
 
Level 1 
Marks: 1–4 
Knowledge of Lorenz’s and Harlow’s animal studies is very limited. Discussion is limited, 
poorly focused or absent. The answer as a whole lacks clarity, has many inaccuracies and is 
poorly organised. Specialist terminology is either absent or inappropriately used. 
OR Lorenz or Harlow only at Level 1/2. 
 
Marks: 0 
No relevant content. 
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Possible content: 
• Lorenz’s procedure and findings – goose eggs randomly divided; half hatched with the 

mother present (in natural environment); half in an incubator with Lorenz present; 
behaviour recorded; incubator group followed Lorenz, control group followed the mother; 
concepts of imprinting and critical period 

• Harlow’s procedure and findings – in a controlled environment, infant monkeys reared 
with two mother surrogates; plain wire mother dispensing food, cloth-covered mother 
with no food; time spent with each mother was recorded; details of fear conditions; long-
term effects recorded: sociability, relationship to offspring, etc; preference for contact 
comfort over food; long-term effects on sociability and own childrearing style 

• credit also references to Lorenz’s work of sexual behaviour/imprinting. 
 
Possible discussion points: 
• problems of generalising findings from animal studies to humans – argument that, of the 

two, Harlow’s study (mammalian species) may be more relevant to human experience 
• implications of imprinting/critical period for human attachment (Lorenz) – ‘window of 

opportunity’ in which attachments must be formed otherwise this may lead to negative 
long-term consequences (credit reference to Bowlby’s work in this context, eg maternal 
deprivation) 

• implications of early neglect (Harlow) – long-term consequences of poor attachment in 
childhood for future relationships, eg with own children (again, credit reference to Bowlby 
in this context – internal working model) 

• argument that the critical period may be more of a ‘sensitive period’ in humans as studies 
have demonstrated how children have been able to recover from early deprivation, eg 
Romanian orphan studies 

• practical value of research, eg for social work, identifying risk factors in vulnerable children 
• implications for theories of attachment, eg Harlow’s suggestion that contact 

comfort/sensitive responsiveness is more important than food contradicts learning theory 
• support from human studies, eg Schaffer and Emerson Glasgow study supports the idea 

that responsiveness may be more important than food. 
 
Only credit ethical issues if made relevant to discussion of human attachment. 
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Student responses 
 
Response A  
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This is a Level 4 response 

The knowledge and understanding are at Level 3/4. The discussion was at Level 4 and 
mostly effective. Overall bottom of Level 4.  
 
13 marks 
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Response B 
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This is a Level 2 response 

First paragraph had good knowledge and understanding but this is followed by a weak 
discussion point with no implicit reference to humans. There are some parts of Harlow’s 
study missing. The discussion was often repetitive/weak with little focus on humans. 
Knowledge and understanding were at Level 2. There are too many omissions for Level 3. 
The discussion was at Level 2.  
 
7 marks 
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Short answer questions  
 

Question 2 
Briefly outline one way in which researchers have investigated the capacity of short-term 
memory.  

[2 marks] 
 

Mark scheme  
Marks for this question: AO1 = 2 marks 
 
2 marks for a clear and coherent outline with some elaboration with reference to immediate 
(within 30 seconds) recall. 
 
1 mark for a limited or muddled outline. 
 
Possible content: 
participants are read a sequence of letters/numbers and asked to repeat the same sequence 
back immediately. An additional digit is added on each subsequent trial to measure the 
capacity of STM (the digit span technique). 
 
Credit other possible ways. 
Note that a wide range of answers is possible here – material presented to participants may 
vary, eg letters, numbers, words, different tones, etc. 
Credit outline of studies that investigated the capacity of working memory components, and 
studies of chunking in STM. Accept relevant procedural details if embedded in findings. 
 
Simply naming a way is not creditworthy. 
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Student responses  
 
Response A  
Jacobs used the digit span technique: 
participants were told a certain number of digits or numbers and participants had to recall 
these immediately aloud. The largest number of digits/letters they could recall in order was 
their digit span. 
 

 
 
 
 
Response B 

 
 

 
 
 
  

This answer was awarded full marks. 
 
2 marks 

This response was not clear, it misses the immediate testing.  
 
1 mark 



A-LEVEL PSYCHOLOGY – 7182 – PAPER 1 - ANSWERS AND COMMENTARIES 

© 2023 AQA 32 of 38  
 

 

Question 6  
Briefly outline one way in which researchers have investigated the duration of short-term 
memory. 

 [2 marks] 
 

Mark scheme  
Marks for this question: AO1 = 2 marks 
 
2 marks for a clear and coherent outline with some elaboration with reference to recall within 
30 seconds. 
 
1 mark for a limited or muddled outline. 
 
Possible content: 
participants are given a trigram (three letter nonsense syllable) and then asked to count 
backwards from a certain number for a specified time. They are then asked to recall the 
original trigram. 
 
Credit other possible ways, eg the serial probe technique. 
Credit outline of studies that investigated the duration of working memory components. 
Accept relevant procedural details if embedded in findings. 
 
Simply naming a way is not creditworthy. 
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Student responses 
 
Response A  
 

 
 

 
 
 
Response B  

 
 

 
 
 
  

Full marks awarded. This was a clear outline, with reference to recall. 
 
2 marks 

The answer was less detailed and therefore was a limited outline. 
 
1 mark 
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Question 10 
Outline one example of cultural variation in attachment.  

[2 marks] 
 

Mark scheme  
Marks for this question: AO1 = 2 marks 
 
2 marks for a clear and coherent outline with some elaboration. 
1 mark for a limited or muddled outline. 
 
Possible content: 
• higher rates of anxious/insecure-avoidant attachments among German infants (mothers 

encourage independence) 
• higher rates of anxious/insecure-resistant attachments in collectivist cultures, eg Japan 

(Van Ijzendoorn and Kroonenberg, 1988) 
• lower rates of secure attachment and higher rates of anxious/insecure-avoidant in Italian 

study attributed to long working hours (Simonelli, 2014) 
• details of comparison between US and Korean children (Kyoung, 2005) 
• high rates of anxious/insecure-resistant attachments in Israeli children reflects difference 

in childrearing practices (Sagi et al, 1995). 
 
Credit other valid content eg sub-cultural variation (class, regional etc). 
There are various other routes to elaboration eg names of countries, detail of percentages, 
reference to studies. 
 
A statement that secure attachment is most common in most countries is not creditworthy. 
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Student responses 
 
Response A  

 

 
 
 
Response B 
Collectivist countries such as Japan or Israel have higher numbers of insecure – resistant 
attachment types than individual countries such as Germany. 
 

 
 
 
 

 
 
 

  

This answer names a study but no reference to cultural variation given. 
 
0 marks 

An example of cultural variation provided, with some elaboration. 
 
2 marks 
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Application questions 
 

Question 3 
A teacher was absent and left work for students to complete during the lesson. Some 
students in the class did not do the work their teacher had left for them. 
 
Use one possible explanation of resistance to social influence to explain why this happened. 

[4 marks] 
 

Mark scheme  
Marks for this question: AO2 = 4 marks 
 
Level 2 
Marks: 3–4 
Application of knowledge of one explanation of resistance to social influence is effective. 
There is appropriate use of terminology. 
 
Level 1 
Marks: 1–2 
Application of knowledge of one explanation of resistance to social influence is limited. The 
answer lacks accuracy and detail. Use of terminology is either absent or inappropriate. 
 
Marks: 0 
No relevant content. 
 
Possible content: 
Social support: 
• disobedience/resistance/defiance is more likely to occur in the presence of others who are 

disobeying/disobedient role models 
• ‘some students’ suggests there was more than one who did not complete the work 
• this would have given others more confidence to ignore the teacher’s instructions 
• social support is associated with diffusion of responsibility/the more people who disobey 

the less severe the consequences are likely to be – the students may have reasoned that 
the more of them who disobey, the less likely they are to be in trouble 

• credit use of evidence to support explanation/application, eg Milgram – two confederates-
one naive participant variation. 

Locus of control: 
• disobedience/resistance/defiance is more likely to occur in those who have an internal 

locus of control 
• the students who disobeyed the instructions may all have had this personality trait in 

common 
• this meant they relied on their own judgement of whether to complete the work, rather 

than the teacher’s 
• credit use of evidence to support explanation/application, eg Holland – 37% of internals 

refused to continue to maximum shock level. 
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Credit other relevant application eg situational factors such as proximity and location; 
legitimacy of authority; external locus of control if fully justified as an explanation of 
resistance to social influence. 
No credit for simply naming an explanation. 
If no application, maximum of one mark. 
 

Student responses 
 
Response A  

 
 

 
 
 

This is a Level 2 response 

An effective answer which was clear and very well explained. 
 
4 marks 
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Response B 

 
 

 
 
 
 
 
 
 

  

This is a Level 1 response 

The application of knowledge was limited. Credit was given for implicit description of 
proximity of the legitimate authority. 
 
2 marks 
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